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Ql

Q2

Q3

Q4

Q5

Q6

Q7

GENERAL KNOWLEDGE

Long distance runner Sudha Singh won
Silver in the women’s 3000 m steeplechase
event at the Asian Games 2018. She

belongs to ~ district of Uttar
Pradesh.

(A) Lucknow (B) Kanpur

(C) Raebareli (D) Unnao

The United Provinces was renamed as
Uttar Pradesh on

(A) 26 January 1950
(B) 24 January 1950
(C) 15 August 1950
(D) 2 October 1950

b

In February 2018, the district of
Uttar Pradesh selected ‘Kala namak’ rice
as a product under the “One district One
product” scheme.
(A) Gorakhpur
(C) Azamgarh

(B) Siddharth Nagar
(D) Gonda

Sufi poet Amir Khusrau was born in
district of Uttar Pradesh.

(A) Bulandshahar (B) Aligarh

(C) Etah (D) Faizabad

The Tomb of Bahu Begum is situated at
in Uttar Pradesh.

(A) Lucknow (B) Agra

(C) Fatehpur Sikri (D) Faizabad

Which of the following famous Indian
classical singers was fondly called “Appa
j1” by her disciples?

(A) GirijaDevi

(B) Kishori Amonkar

(C) Vasundhara Komkali

(D) Hirabai Barodekar

To which sect does Yogi Adityanath, the
current chief minister of Uttar Pradesh,
belong?

(A) Naga

(C) Kalamukha

(B) Nath
(D) Madhava

Ql

Q2

Q3

Q4

Q5

Q6

Q7

TRMATE Wel 2018 H AT 3000 m TN
qre ufrfTer % RoTd uee faordr g

Rig” Sar U9 & fyem K3
REIENR

(A) TGS (B) MR

(C) T aXell (D) 3+

P FYdd IId BT A IE PR IR
g 9T fosar T er?
(A) 26 STaNI, 1950
(B) 24 STHaN, 1950
(C) 15 3R, 1950
(D) 2 3R, 1950

"Bl THR AT BT e B Th
fSToll Th IS Aol b ded SN

U B T 9 Sde & Wy
# AT T B

(A) TREYR (B) RigriTR
(C) 3TSTHTS (D) ST

Gh! B AR GERT BT T IR U
Ed fSTel # gatr o |

(A) geigerer (B) 3reliTe

(C) ger (D) HoTmaTe

9% d7TH P HAGERT SR UL B
# Rerd 2|

(A) TETS (B) SRT

(C) ®degR HIHI (D) Bl

fReferiad 3 9 fova aRig IR A
S el ST ofr?

(A) RS <

(B) fheMRY MmN

(C) THERT PHBICA!

(D) ERMETE IRISH

IR U b JAdE GEIAEAT AR

=l
(A) =TT (B) ey
(C) dretgy (D) #rErg
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Q8

Q9

Q10

Q11

Ql12

QI3

Which of the following districts of Uttar
Pradesh shares its boundary with Nepal?
(A) Gorakhpur  (B) Maharajganj

(C) Balia (D) Basti

Which of the following Sikh gurus created
the Khalsa (The Pure Ones) in 1699?
Khalsa was a community of the faithful
who wore visible symbols of their faith and
trained as warriors.

(A) Guru Tegh Bahadur

(B) Guru Har Gobind

(C) Guru Har Krishan

(D) Guru Gobind Singh

State the quantity of gold bought by the
Reserve Bank of India during the financial
year 2017-18 in its first purchase of gold
in almost nine years.

(A) 2.46 metric tonnes

(B) 4.46 metric tonnes

(C) 6.46 metric tonnes

(D) 8.46 metric tonnes

Which Sikh guru introduced the Sikh
marriage ceremony known as ‘Anand
Karaj’?

(A) Guru Nanak Dev

(B) Guru Amar Das

(C) Guru Gobind Singh

(D) Guru Ram Das

Which was the largest fruit producing state
of India in the year 2016-17 as per
horticulture statistics by the Ministry of
Statistics and Programme Implementation?
(A) Andhra Pradesh

(B) Gujarat

(C) Karnataka

(D) Madhya Pradesh

What was the approximate amount of
India’s trade deficit during the financial
year 2017-187?

(A) $126.80 billion

(B) $136.80 billion

(C) $146.80 billion

(D) $156.80 billion

Q10

Q11

Q12

QI3

IR YW & [FAfetRad foreti H | fhaa!

T AUTT B AT T 27
(A) TRER (B) HERTSIISI
(C) dferam (D) ST

fFrferRad H 9 & ¥ R T3 71 1699
H GTeT U @1 IO B 1?7 Wl
S qer™ 2, RS s favary &
5% YdIdl Bl UsTd © AR Agldl Bl
e yiRiferd gor |

(A) # TS T 98I5%

(B) #1 % & fd=

(C) *T o T FoI

(D) # T Mide Rig

facia a9 2017-18 & SR 9IRA R4
d& TART T A1 98T § A @ Ugel!
g H WIS Y A B A fhal 57
(A) 2.46 HMifgd <
(B) 4.46 Hifgd <4
(C) 6.46 Wfgd <
(D) 8.46 Hifgd <

e R 7% 4 g fdare wRE @l
YR "3HE BRI & A I Bl oAT?
(A) & % IS <4

(B) # % IR &

(C) = T% wide R

(D) & % VM &

TiRGPHT AR HRIPH BrAaIT HAT
QIRT 2016-17 & forg ey ¢ qrrar
el & AR FIH I Hel IATGdH
ARAT 15T DI AT 87

(A) 3T U<er

(B) ISRIA

(C) ®Hle®

(D) W& WS

facig a¥ 2017-18 & SRM YR & AR
e & T IR T 2f?

(A) $126.80 fafera=

(B) $136.80 fafera

(C) $146.80 fafera=

(D) $156.80 fafera=
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Ql4

Q15

Qlé6

Q17

Which of the following statements is

correct?

(A) Gulzari Lal Nanda was the Prime
Minister of India at the time of
emergency in 1975.

(B) Indira Gandhi was the Prime Minister
of India at the time of emergency in
1975.

(C) Charan Singh was the Prime Minister
of India at the time of emergency in
1975.

(D) Morarji Desai was the Prime Minister
of India at the time of emergency in
1975.

Which of the following is correctly

matched?

(A) Article 19 (e) — Right to form
associations

(B) Article 19 (b) — Right to practice any
profession

(C) Article 19 (a) — Right to freedom of
speech and expression

(D) Article 19 (g) — Right to assemble
peaceably and without arms

Which of the following statements is

INCORRECT?

(A) The Governor is appointed by the
President.

(B) The Governor holds office during the
pleasure of the President.

(C) The Governor submits his resignation
to the President.

(D) A person of the age of 30 years can
become the Governor.

The Railway Minister of the Indian Union
is appointed by the

of the

(A) Prime Minister; President

(B) President; Prime Minister

(C) President; Speaker of the Lok Sabha
(D) Vice-President; Prime Minister

on the advice

Ql4

Q15

Qlé6

Q17

o § 9 o9 a1 woH TE 'Y

(A) 1975 ¥ SMUTAHIS & FHI ATl
el el IRT & W= H3A1 oF |

(B) 1975 H SMUIddhT & THI e
AR ARA BT gEE HAT o |

(C) 1975 ¥ MUTAHI & THI TR
Rig vRT & Y& #9230 o |

(D) 1975 ¥ MUIAHTA & FHT ARROI
TS IRT & W HAT o |

forfoRad & & @9 a1 98 fAaE 87

(A) 3T 19 (e) — A T Pl
JATHR

(B) 31 =65% 19 (b) — ¥l URT T oard
PR BT JABR

(C) =BT 19 (a) — AT AR Al
CIRCHESIRGARSICEN

(D) 3F=8T 19 (g) — ifigde iR SRR
@ 91 SHEST 8F BT SMEHR

e & 9 @19 41 Tod 27

(A) r5guTe Xgufd garT Rgad fbar
ST B

(B) IseOfd @ gATEUid TSAUTe Bl
BRIDIT Y&l & |

(C) RTSgUTe RTSEUfT T 3TUAT RIS
RIECIEL

(D) 30 99 &I AR BT Al IS
9 AT B |

YRA & P=id Nl HAT Bl B
Aell8 W AR frgert feba
ST 2 |

(A) T3, gt

(B) IrseUfcr; WeITHA
(C) TCUfeY; AHaT & 3feet

(D) SIRTEUf; JeT=HAT

SET-B01



Q18

Q19

Q20

Q21

Q22

Q23

Q24

Which of the following statements is Q18
correct?
(A) Zakir Husain was the first Muslim
president of India.
(B) Mohammad Hidayatullah was the
first Muslim president of India.
(C) Fakhruddin Ali Ahmed was the first
Muslim president of India.
(D) APJ Abdul Kalam was the first

Muslim president of India.

Which of the following is the capital of
Jordan?
(A) Zarqa
(C) Salt

Q19

(B) Irbid
(D) Amman

Which of the following is the currency of
Mongolia?
(A) Leu
(C) Kyat

Q20

(B) Togrog
(D) Metical

Which of the following is the third most
populated country in Asia?

(A) Iraq (B) Bangladesh

(C) Jordan (D) Indonesia

Q21

Which of the following nations of South
America has the largest forest area in the
South American region?

(A) Guyana (B) Brazil

(C) Colombia (D) Ecuador

Q22

Which among the following is the largest Q23
river of Peninsular India?
(A) Mahanadi (B) Godavari

(C) Krishna (D) Kaveri

When is International Human Rights Day
celebrated every year to mark the

Q24

proclamation of Universal Declaration of
Human Rights by the United Nations?
(A) 10" September

(B) 10™ October

(C) 10" November

(D) 10™ December

o=t & 9 B9 a1 e 8

(A) SR 99 9RA & ygal R
RTSCafer o |

(B) ArgwIe feaRideetl 9RA & Ugel
qRe™ Tl o |

(C) BETEIA 3Tell IBHE WRA & UBel
R gy o |

(D) TUIS. Qe Bl YRA & Ugel
R Irgafy o |

frafafRag & @ @9 @1 ST a1
ST 27

(A) 9% (B) sfds

(C) ¥Tee (D) 3=
FrfeiRad H & 19 A1 Fwiforar & gaT
8?7

(A) forg (B) AR

(C) Tra (D) #fewa

URRIT # TORT 9ed 3ffSd 3MeTel arell
<9 HIF AT 87

(A) D (B) SivelTQer

(C) Sited (D) SSHERT
fafaRad e smRey vt 7 o fores
el SRS & BT I g I &l
27

(A) T (B) sToitel

(C) Brafraar (D) SFISR
frferRad & & TrIgId wRa @ ae
g3 Fal PIF Ar 8?

(A) HETTA! (B) TTETaRT

(C) pom (D) T

YT I FART AAIDBRI BT AHIHD
o BT fafeqad av & forw &) a9
fore fafer o1 STaRTST AR faaw
HATIT ST 27

(A) 10 RrdaR

(B) 10 37aR

(C) 10 ¥dsR

(D) 10 faHaR
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Q25

Q26

Q27

Q28

Q29

Q30

Q31

What is the name of the mobile help centre
launched by CRPF in July 2018 to help
the travellers going on pilgrimage to the
Amarnath shrine?
(A) Dost

(C) Yaatri

(B) Saathi
(D) Mitra

With which of the following countries did
India renew her trade treaty in October
2016 for the next seven years?

(A) Bhutan (B) Myanmar

(C) Nepal (D) Bangladesh

How many gold medals were won by
China, who topped the medal tally in the
Asian Games 2018?
(A) 102
(C) 122

(B) 112
(D) 132

In which country is the International Court
of Justice located?

(A) Netherlands

(B) United States of America

(C) United Kingdom

(D) Germany

In plants/trees, after fertilisation the ovary
matures to form the:

(A) Seed (B) Stamen

(C) Pistil (D) Fruit

Damaged CFLs and fluorescent tubes
should be disposed off safely because they

contain vapour, which is toxic in
nature.
(A) Ammonium

(B) Sulphur dioxide
(C) Nitrogen dioxide
(D) Mercury

The vascular tissue that transports water
and nutrients in plants is called the

(A) Phloem (B) Collenchyma
(C) Xylem (D) Sclerenchyma

Q25

Q26

Q27

Q28

Q29

Q30

Q31

Jells, 2018 H SFRATT HfGR @I el
I B aTel AR B Feradr & forg
HARATE GIRT Fo By 7Y Ha1gel

TERIdT &g BT AH T 87

(A) B (B) it
(C) I (D) =
T 1 a8t & foru fA=ferRaa <on #

A fhde A1 MRT 9 IacaR 2016 H
AU TUR G Bl qd-Ihd R
87

(A) T (B) MR

(C) Hurel (D) drares
TR Wl 2018 § Ugsh alferdl & oMY
I8 aTt A A fobae wol ggs Siid 27
(A) 102 (B) 112

(C) 122 (D) 132

RIS =T fba <o # Rerg 87
(A) Evets

(B) ST I R

(C) Trgce fohireH

(D) ST

Us /Ul #, e & 918 e gRafid
BIaT &

A) 957 # (B) JH-H¥R H

(C) ST # (D) ®al H

o1 MYeH JRIET wU I fHI1 ST A1fey
Fifd g e BIAT &SI W
H STedel B B

(A) SR B

(B) AR SISIATSS DI

(C) IECIoH SBTagS DI

(D) IR B

Urer H g 3R Uiy Icdi & uRdgd &
fu g Sd®d &1 FHEISIar g |
(A) WelrgH (B) lef-TehTIgHT
(C) SIrgem (D) TFRTRISHT
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Q32

Q33

Q34

Q35

Q36

Q37

Q38

Out of the following options, choose the
name of a spore-producing plant:

(A) Marigold

(B) Bread mould

(C) Potato

(D) Ginger

Which of'the following is a man-made fibre
that was made without using any natural
raw material (from plant or animal)? It was
prepared from coal, water and air. It was
the first fully synthetic fibre.

(A) Bioplastic (B) Nylon

(C) Rayon (D) Polystyrene

World Hindi Day is celebrated on
(A) 10January  (B) 15 January
(C) 17 January (D) 17 December

propounded the inheritance of
acquired character.
(A) Jean-Baptiste Lamarck
(B) August Weismann
(C) Gregor Mendel
(D) Charles Darwin

Who is the author of the book titled
‘Rebooting India: Realizing a Billion
Aspirations’?

(A) Satyarth Joshi (B) Nandan Nilekani
(C) Ratan Tata (D) Vishal Sikka

Full-fledged GST was recommended by
(A) Raja Chelliah committee

(B) Vijay Kelkar Task Force

(C) GST Council

(D) Manmohan Singh Commission

India’s first cyber police station was set
up in

(A) Kochi
(C) Bengaluru

(B) New Delhi
(D) Chennai

Q32

Q33

Q34

Q35

Q36

Q37

Q38

FfaRad el 3 9, gToded dr
STeH Ui BT A ﬂﬁ

(A) et

(B) S Alcs

(C) 3ffe]

(D) 31X

Bl A1 UTepfcres ded ATt (e AT SaR
W) & 1 99 T ue A9 AT
BIgaR | I8 PRI, T 3R BT I dIR
fpar Tar o | Ig ugen yui R¥Afew
BISR AT | IE &

(A) 99 WiRed  (B) AT

(C) = (D) difaRed™

faeg fEa faaw BT AT ST
2 |

(A) 10 STTaRT
(C) 17 STeRY

(B) 15 S1aRl
(D) 17 iR

 qfufea aRE @ fRmIa @
Rrgia @1 ufaufea fear |

(A) STH—dufeRe RS

(B) 3TR< dqTZoTHA

(C) IR Hsd

O EISESICE]

e sfear g v fafer=
TR A% JRIH B g DI o7
(A) It St (B) Fed Aol
(C) X+ Crer (D) faemer Ryt

U ®Y | SIL.TH.ELL o RwmiRer
TART BT 79 o |

(A) TSI <reran Afafa

(B) fasTI ®edr TP BN
(C) Shwadl yRug

(D) 7HIEs Rig *manT

YRT DT Tacll HATgeN E{%R? 9
H wenfud fhar ar o |

(A) Bifed (B) =3 faeet
(C) dTge (D) =18
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Q39

Q40

Q41

Q42

Q43

Q44

NUMERICALABILITY

Solve the following equation:

48 +[35-{30-(31-26+2x4)}]="
(A) -2 (B) -3

(€) -4 (D) -8

Solve the following equation:

143 +143+1.43+0.143 +0.0143 =2
(A) 158.8783 (B) 158.8863

(C) 158.8683 (D) 158.8873

What is th fl dl?
at is the sum of T ~and /¢ -

14
(A) 18

14
(B) o

7
© 5

7
(D) EY)

What is the largest four-digit number that
is divisible by each of 15, 25 and 35?

(A) 9975 (B) 9925

(C) 9875 (D) 9825

What is the HCF of 150, 225 and 375?
(A) 15 (B) 25
(C) 75 (D) 125

Which of the numbers given below is
exactly divisible by 24?

(A) 14744

(B) 28856

(C) 43976

(D) 57528

Q39 = AU U FHIHRT BT & BN |

48 +[35— {30 (31 -26+2x4)}]="2
(A) -2 (B) -3
(C) -4 (D) -8

=1 faU T TfaRo B g AN |
143+ 14.3 + 1.43 +0.143 +0.0143 = 2
(A) 158.8783  (B) 158.8863

(C) 158.8683 (D) 158.8873

7 7

I _ o 2
1631Q 48$ YHTWhel Tepd-dl eI
A 14

(A) 48

14
(B) o

7
© 5

7
(D) EY)

TId IS! 4 3T dToll G T &, SiT 15,

25 3R 35 H W YD AR fa9iora <
A 77

(A) 9975 (B) 9925

(C) 9875 (D) 9825

150, 225 31X 375 &1 9.9, fbaqr srm?
(A) 15 (B) 25
(C) 75 (D) 125

R & TS Gl # I B A G 24
A g0 IRE fawifog e A 27

(A) 14744

(B) 28856

(C) 43976

(D) 57528
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Q45

Q46

Q47

Q48

Q49

Q50

If 164 is divided in the ratio 32 : 9, what
is the value of the smaller part?

(A) 45 (B) 36

(C) 54 (D) 27

In an entrance test one requires 522 marks
out of a maximum of 600 to qualify. What
is the cut-off in percentage terms?

(A) 87 (B) 88

(C) 85 (D) 86

What will be the interest earned on T 1980

in five years @ 8% simple interest per

annum?
(A) ¥ 891 (B) ¥ 829
(C) X796 (D) X792

The difference between a gain of 15% and
a loss of 9% is ¥ 768. What is the cost

price of the item under consideration

here?
(A) %2640 (B) %2880
(C) 3200 (D) % 3440

The marked price of a toy was I 1800.
Two successive discounts of 20% and
15% were offered on it during a sale.
What was the selling price of the toy?
(A) T 1202 (B) T 1224

(C) X 1170 (D) X 1230

Torsha started a business with I 2250
while Trisha invested ¥ 2880 after a few
months. If the end-of-12-months (from
Torsha’s investment) profit is shared by
Torsha and Trisha in the ratio 25 : 24, for
how many months did Trisha stay

invested?
(A) 7 (B) 8
<) 9 (D) 10

10

Q45

Q46

Q47

Q48

Q49

Q50

i AT 164 BT 32 © 9 & AU H
fomifsra fdbar Sar 8, a1 ®ic W @t
A fhadr 8rm?
(A) 45
(C) 54

(B) 36
(D) 27

foedl Tder ORI § IEdr urd dRA B
foru erfrpa® 600 H W 522 3fdi Bl
JAELIHAT Bl = | UiTerd H de 3ifh
T B?
(A) 87
(C) 85

(B) 88
(D) 86

@ 8% @1 dIfid ARIRY T &R W 5
Y 7 T 1980 BT &TST fdoe=T BNTT?
(A) T 891 (B) ¥ 829

(C) T 796 (D) T 792

15% @ <9 3R 9% @1 81 & 4 bl
3R 768 & | T8l foRIeh! a1t bl ST Rel
2, B9 O BT ARG qed faaer 27
(A) T 2640 (B) T 2880

(C) T 3200 (D) T 3440

U Racle @1 3ifhd Jea T 1800 o |
fI®mT @ JIRTT 20% MR 15% BT
fefiear <1 g & 8 | Radq @1
fasha g fbam g

(A) T 1202 (B) T 1224
(C) T 1170 (D) ¥ 1230
AREM 9 2250 F AT T HREAR Yo

o, Safs o weHl & 9rq Brem |
T 2880 @7 fooer o fear | afs 12-A8A1
@ 3fd (@RI & 99 & I |) ™
DI AR AR 3T GART 25 : 24 & U
H gier orar g, dr e A feds qe8e @
fore faer fpar en?

(A) 7 (B) 8

(C) 9 (D) 10
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Q51

Q52

Q53

Q54

One morning Vaidehi cycled from her
house to her office at 15 km/hr but owing
to heavy traffic could return from her office
at 10 km/hr. What was the average speed
for the two-way trip?

(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

Ifx:9:5:y, thenxy="7?

5
(A) 9

(B) 45
El
©) -

(D) 35

What would be the interest accrued in two
years if X 800 is invested @ 10% interest
compounded annually?

(A) T 162

(B) X 160

(C) X 166

(D) X 168

Nine pipes are attached to a tank, of which
some are emptying pipes and some are
filling pipes. Each filling pipe can fill the
empty tank in 24 hours, while each
emptying pipe can empty the fully filled
up tank in 18 hours. If the tank is full and
all the pipes are opened simultaneously,
the tank is emptied after 9 hours. The
number of emptying pipes is:

(A) 6

B) 5

©) 4

(D) 3
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Q51

Q52

Q53

Q54

T GIE dSB! 3T TR SR A1gfhed
R 15 km/hr @1 TRT ¥ g olfb aga
NP AT & HROT Ao H SHDT
TTfr 10 km/hr T&T | - IET & forg
airaa wifar faraeir ofi?

(A) 12.4 km/hr

(B) 12.5km/hr

(C) 12.25 km/hr

(D) 12 km/hr

T x:9:5:y, Aay=2
Ay 2
(A) 3
(B) 45
2
©) 3

(D) 3.5

% 800 B 10% ! alfieh =shqlg &ATSl
w® R 9w fHar Sar g, ar &1 9y #
3IfSTT =TSt @1 IR et Bi?
(A) T 162

(B) T 160

(C) T 166

(D) T 168

B UISY CF BT Wlell IR IR ¢ AR [B
Uy <& ® MR B & | D WR dTe]
T8 GTell &b BT 24 Eel § 4R Fhd 2,
Safds Ihd Wrell dHR+ dTall Ulsd 18

¢ H I RS I P Bl WMl B Tl
21 Ife <o g TRE 9RT 83N ® IR |l
UTgy Udh A1 Wit SId 8, df < 9 ©S
H @rell 8 AT 81 & DI @lell &
qrol UTSyl @Y TeET &

(A) 6

(B) 5

©) 4

(D) 3
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Q55

Q56

Q57

Sarthak can fill a sandpit with sand in 14
days while Vivan takes 35 days to fill it.
Ali can empty all of the sand from a filled
sandpit in 12 days. If all three start
working when the pit is empty, in how
many days will the sandpit be full again?
(A) 60
(B) 61
(C) 62
(D) 56

Manmath rowed a distance downstream
in 7.5 hours while it took him 10.5 hours
to row the same distance upstream. To
make the two-way journey in still water,

how many hours will it take him?
(A) 18 1

4
(B) 18

1
(C) 175

3
(D) 17Z

A train, travelling @ 67.5 km/hr passes a
pole in 9 seconds and a platform in 29
seconds. What is the length of the
platform?

(A) 400 m

(B) 375m

(C) 380m

(D) 350 m
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Q55

Q56

Q57

ARG 14 A 73T & Th TS I R
AHAT & Sdid a7 39 R & forg
35 &7 oFTd © | 3rel 12 faAl § ga W
U N & T8S Bl YU Tl R Fhdl
2| afe @rell TS # I P A1 B
Y% B &, Al N BT T8al R | fba
feqt % W S

(A) 60

(B) 61

(C) 62

(D) 56

0 €RT @ A1 7.5 €< H U gl ad
Rl B, Sdidh ORT & fquRid a8
T FRT H I 105 €S A 2| i
Il H SI—dRGT AT B B forg, S

fhd= T oli?

1
(A) 185

(B) 18

1
©) 175

3
(D) 17Z
Uh oA, fSaa@r IfT 67.5 km/hr B, 9
Jhs H TH WGHT 3R 29 Adbs H Udh
RICHH IR BRI © | ©ICHH Pl ddTs
et 87
(A) 400 m
(B) 375m
(C) 380m
(D) 350 m
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Q58

Q59

Q60

Q61

Q62

MENTALABILITY

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Kuwait : Dinar :: Turkey : ?

(A) Rial

(B) Kyat

(C) Yen

(D) Lira

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Affirm : Deny :: Create : ?

(A) Make

(B) Use

(C) Destroy

(D) Worst

Owl is related to Flit in the same way as
Lamb is related to:

(A) Frisk

(B) Strut

(C) Fly

(D) Prowl

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Owl : Hoot :: Goat : ?

(A) Bleat

(B) Beat

(C) Quack

(D) Roar

RST is related to 181920 in the same way
as GHI is related to:

(A) 8910

(B) 7611

(C) 789

(D) 7810
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Q58

Q59

Q60

Q61

Q62

fag U fAwedl # & 9 U B 79T I,
ST R U ¥ SN UaR eRd 7, o
UBR ORI U Ul U ¥ HefRId ®:
E@H:ﬁ‘{l’{::g‘dﬁ:?

(A) Rard

(B) @1d

(C) &

(D) =Rt

QU Tv faweal # 9 S Ug &1 T aR,
ST N UG 9 ST IR Heed 7, 5
JPHR TIRT IS Ugel U8 9 Hafda &
GfREhROT : DRI : : Gofd : ?

(A) ST

(B) SUART

(C) =<

(D) Mpedq

T TeR ool S A HRIT 7, S
UHR HHT W T 2

(A) BIST BRAT

(B) 3PS

(C) S

(D) foumm

QU Tv fAweal # ¥ S Ug &1 79 aR,
ST IR UG 9 ST IR Heed 7, 5
JPHR TIRT IS Ugel U8 9 Hafdad &
W:@::aﬁ:?

(A) AT

(B) g

(C) Ppi—al

(D) <=reT

‘RST’ “181920° & 19 U R Heferd ®,
S UHR ‘GHI foa & wdafa &7

(A) 8910

(B) 7611

(C) 789

(D) 7810
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Q63

Q64

Q65

Q66

Q67

Select the option that is related to the third
term in the same way as the second term
is related to the first term:
ER:VI::JQ:?

(A) DF

(B) QJ

(C) KM

(D) IR

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

BCE : 10 :: KMQ:?

(A) 31

(B) 41

(C) 111317

(D) 111217

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Butterfly : Insect :: Snake : ?

(A) Cobra

(B) Python

(C) Reptile

(D) Rodent

Identify the next term in the following
letter series:

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

Identify the next term in the given letter
series:

C,EEGK,M,?

(A) P

B) Q

(C) R

(D) S
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Q63

Q64

Q65

Q66

Q67

fag U fAeeul § | 99 U Bl T B,
ST R U | S UBR e B, o
JHR A US U U ¥ A
ER:VI::JQ:?

(A) DF

B) A

(C) KM

(D) IR

f&g 77 fRwedt # | 39 Ug B 7T Y,
ST AR U | S UBR e B, o
YR A US U U ¥ A
BCE : 10 :: KMQ:?

(A) 31

(B) 41

(€) 111317

(D) 111217

fau 77 fAmedl § W S Ug BT TT B,
SRR g 9 SN UaR F&fd §,
JHR AN US U U ¥ A
fadell : @dle : A9 : ?

(A) BIERT

(B) 3IGTTR

(C) Ay

(D) P>

ISIRICiCENE e I RC BN Cc|
PEEIE S

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

FFfeTRad sleR $Raar 4§ 31Tel e &l
PEEIE RS

CEGKM,?

(A) P

B) Q

©) R

(D) S
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Q68

Q69

Q70

Q71

Q72

Identify the missing term in the following
letter series:

K,O,S,?

(A) T

(B) U

(OIY

(D) W

Identify the missing term in the following
number series:

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Identify the missing term in the following
number series:

13,4, 26, 8,52,7,104, ?

(A) 4

(B) 5

(C) 6

(D) 7

Identify the next term in the following
number series:

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

Identify the next term in the given series:
156,272,342, ?

(A) 506

(B) 529

(C) 560

(D) 592
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Q68

Q69

Q70

Q71

Q72

Fr=IfeTRad e1elR sfge H o 3R @l
Uga Py:

K, O,S,?

(A) T

(B) U

©) Vv

(D) W

fRefoRad wven sfaer ¥ w9 ol
Uga Py:

11,22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

FRefoRad wven saer ¥ w9 ol
Ugd Y

13,4, 26,8,52,7,104, ?

(A) 4

B) 5

©) 6

(D) 7

fr=IfeTRad SR $jRgar H SFTell |
DI gAY

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

fr=IfeTRad SR $jRgar H SFTell |
P TS HY:

156,272, 342, ?

(A) 506

(B) 529

(C) 560

(D) 592
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Q73

Q74

Q75

If South-East becomes North, North-East
becomes West and so on, what will South
become?

(A) East

(B) North-East

(C) South-West

(D) West

Atul walks 5 km toward North and then
turns to the right. After walking 3 km he
turns to the right and walks 5 km. How far
away is he from his starting position?

(A) 3km

(B) 4km

(C) 5km

(D) 13km

Given below is a statement followed by
two arguments numbered I and II. You
have to decide which of the arguments is

a strong argument.

Statement:
Should the private sector be permitted to

operate hospitals in India?

Arguments:

I.  Yes, they are operated in advanced
western countries.

II. No, it is risky to put the hospitals in

private hands.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Neither argument I nor II is strong

(D) Both arguments I and II are strong

16

Q73

Q74

Q75

afe cféor-gd, SR 99 oar 7, @R
IR—Yd, aREH 99 ST 7 @R S
e 9l faeny geat Sl €, o1 <l
T BAIT?

(A) gd

(B) sferor—gd

(C) cferor—uf3=™

(D) uf¥=H

el IR Bl TRB 5 km Bl QT Th
Tl B AR R a8 3R SR 3 km
T B 91 98 R I 1 IR Fear ?
3R 5 km Ferdl 7 |

g g8 YOIl I ¥ fbal 1 R
8?

(A) 3 km

(B) 4 km

(C) 5km

(D) 13 km

T TP ST AR T TP 3R 11T 717

g folg of 5 Pom & ey 7 dA

AT/H qAD A § /8 |

P :

T Ao & & YRd § SRudral &l

FATT B DI 1Al & ST =A1feg?

qd :

[. & 9 I~d ufem <o § Fardfa
B B |

II. -2, 3ryqaral fAoll g #§ @
WARATD 2 |

(A) I IS 19919 ©

(B) ®ad I Il Aolgd &

(C) A AT TS [3IR 7 & & 1799 &

(D) 13IR I T T& #Aolgd 2 |

SET-B01



Q76 Given below is a question followed by two

statements, [ and II, each containing some
information. Decide which of the
statements are sufficient to answer the
question.

The difference between father’s age and
son’s age is 21 years now. What is the

present age of the son?

Statements

I.  After five years, the ratio of father’s
age to that of the son would be 5:2.

II. The sum of father’s age and son’s age
after five years would be 66 years.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I alone or statement
IT alone is sufficient.

(D) Both statements I and II together are
needed.

17

Q76 @ Ud U iR &1 d& 13K 113U 7Y

2, orad o SMaRat nfie 8| Aot
of fb Ued &1 IR o7 @ folw @9 |
HAT B! F |

ar @1 oy IR Y= @ Mg H 21 AT
BT AR B | Y3 BT o Ay b 57

YU :

I Ui e a1e, fudr &l 3 &R 9@
T3 @I MY H 5:2 HT U BN |

II. U A1 91, fUdr &1 3y iR g3
T MY BT AT 66 AT BT |

(A) Dad B [ T B |

(B) ®ad %o Il e 2 |

(C) 1 A1 HUF 17 o 1 e & |

(D) ®o4 13IR 11 F! 9I & |
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Q77

Q78

Q79

Q80

Q81

Find the number that follows in the given
series.

5,12, 26,54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

Find the missing term in the given series.
7,19,43,91,2,379

(A) 180

(B) 187

(C) 182

(D) 184

Which number would replace the question
mark in the given series?
9,31,97,295,?, 2671

(A) 890

(B) 889

(C) 887

(D) 885

Vikranth is thirty-second from top in a
class of 65 students. What is his rank from
the bottom?

(A) 33

(B) 34

(C) 32

(D) 30

Vani is sixth from the front end of a line
and Swathi is ninth from the back end of
the line of girls. If there are seven girls
between Vani and Swathi, how many girls
are there in the line?

(A) 20

(B) 21

(C) 22

(D) 23

IQ
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Q77

Q78

Q79

Q80

Q81

S99 S[EGAT H STl |1 DI W BEN?
5,12, 26, 54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

S S@e § 7?6 I W FIT YT?
7,19,43,91, 2,379

(A) 180

(B) 187

(C) 182

(D) 184

9 S 7?6 W W RIT YT?
9,31,97,295,7,2671

(A) 890

(B) 889

(C) 887

(D) 885

65 BT &I Bl H fapid &1 e oy
I giNIgl ® dr 3fd W SHBT BIF |l
R BRTT?

(A) 33

(B) 34

(C) 32

(D) 30

Tefpal &I ors § 9ol 3 9 ©d
XM W B 3R w@rfa i & A wm=
R 2| ol iR w@ifd & 9= # A
ST 8, 1 ufdd 5 gt favaeil st
27
(A) 20
(B) 21
(C) 22
(D) 23
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Q82

Q83

Q84

Q85

Q86

Swarna is ranked sixteenth from the top
and sixth from the bottom of a class. How
many students are there in the class?

(A) 22

(B) 23

(©) 21

(D) 20

If the day before yesterday was Sunday,
what day will fall on the day after
tomorrow?

(A) Friday

(B) Thursday

(C) Wednesday

(D) Monday

Friday was a holiday for Republic day. 15%
of the next month was again a holiday.
What day was it on the 15%?

(A) Wednesday

(B) Friday

(C) Sunday

(D) Thursday

If SEISMO is written as TEJSNO, then
how would EARTHD be coded in that
language?

(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

In a certain code, MASTER is written as
TBNSFU. How will DANCER be written
in that code?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD

19

Q82

Q83

Q84

Q85

Q86

TP Hell H WOl BT SR | Alctadl I
2 3R I & BaT WH B | Fel H q{A
free BT &7

(A) 22

(B) 23

(C) 21

(D) 20

TR Hel & Ugel Bl fad AqaR o, ar
M dlcl A & d16 BT T DA AT
BAIT?

(A) YhaIR

(B) ToIR

(C) ggar

(D) AHaR

AR DI TGS f3ad & TR TR Gl
ofl | 3FTeT WA @ 15 ARG &l R |
gel &l fa77 2, §9 15 ARG Bl I 4
e =
(A) g89dR
(B) YPpdR
(C) Xfdar
(D) THaR

afe fodl drs wom § SEISMO &1
TEJSNO forar Sfrar 8, ar 1 w7 |
EARTHD &1 &9 UaR ferar sg?
(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

Ife fd dre §# MASTER &1 TBNSFU
foraT SIrem ®, o S¥ B § DANCER
BT b bR forar Smo?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD
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Q87

Q88

Q89

Q90

Q91

In a certain code language CHICKEN is
written as DHICLEO. How will FISHN
be written in that code language?

(A) FJSIN

(B) GITHO

(C) FISHO

(D) GISHO

The position of how many letters in the
word RAINBOW will remain unchanged
when they are arranged in alphabetical

order?
(A) One (B) Three
(C) Four (D) Two

Find out how many such pair of letters
are there in the word RUST that have as
many letters between them in the word as
there are between them in the English

alphabet:
(A) One (B) Two
(C) Three (D) Four

Anu is Bali’s sister. Komal is Bali’s mother.
Dinu is Komal’s father. Ean is Dinu’s
mother. How is Anu related to Dinu?
(A) Mother

(B) Grandmother

(C) Daughter

(D) Granddaughter

Pointing to a chess player, a man said to a
woman, “His mother is the only daughter
of your father.” How is the woman related
to the chess player?

(A) Grandmother

(B) Maternal aunt

(C) Paternal aunt

(D) Mother

Q87

Q88

Q89

Q90

Q91

gy fbedl ®re 9T § CHICKEN &1
DHJICLEOQ foram <irar 2, @ S als
99T § FISHN &1 g TR foram Srae?

(A) FISIN

(B) GITHO

(C) FISHO

(D) GISHO

RAINBOW & & 31&Ri Pl quliehd A
IIRYT HRA © d1¢ 59 I H fohan
Rt &1 Reafa saRafda @ M?

(A) TP (B) I

(C) TR (D) &

g 9qrg b U U veg F Rl &

e i 8, o1 f6 SS9 o &
JII—TY TS T § O 9 g1

% 4/ ¥ oI & |

RUST

(A) TP (B)
(C) = (D) =R

379, dTell BT g8 € | DI, dTell B Al
2| <1, e &1 fUar 21 33, < B
A 2| Al ey, <N 9 59 geR Hdfda
87

(A)

(B) <T<T /A

(C) 9

(D) Uit /e

A o1 TS AR | Bl SHDI H
s T @ TeHE 9 B 17 Afdel
g7

(A) T

(B) @l

(C) =

(D) =i
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Q92

Q93

Q4

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Blacksmith : Anvil :: Carpenter :

(A) Axe

(B) Saw

(C) Spade

(D) Sword

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Gun : Shoot :: Chisel :

(A) arve

(B) Scoop

(C) Bore

(D) Dig

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of
Kannada (K), Hindi (H) and Telugu (T).

How many people know exactly two
languages?

(A) 150

(B) 300

(C) 400

(D) 450

21

Q92

Q93

Q4

faQ U fddedl @ 9 S99 U &1 T B,
ST AR g ¥ ST YR Hefdd g, e
JHR ORI IS U US ¥ Hafdd
dleR : e :: 9g8 ¢

(A) BETS

(B) amd

(C) HaTe

(D) deTarR

T U fawedl # & S U BT 99T N,
ST IRR T o ST YR Hefid 8,
JHR ORI U8 U US ¥ wafdd
T :YE o vA

(A) Sgpren

(B) ¥4

(C) I

(D) GaTE

A e T 9F oRw ds (K) B
(H) 3R I (T) & 9 & Hae H b
I} H 1500 AT & AT & GROMH &
IR H SIHHRI < 8 |

B QT VN S dTel afdadi &1
e fahaer ®7

(A) 150

(B) 300

(C) 400

(D) 450
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Q95 Study the following diagram and answer

Q96

the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of

Kannada (K), Hindi (H) and Telugu (T).

How many people know only one
language?

(A) 1000

(B) 1050

(C) 50

(D) 400

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of

Kannada (K), Hindi (H) and Telugu (T).

How many people know all the three
languages?

(A) 50

(B) 150

(C) 300

(D) 1050

22

Q95 M f&r T o9 ARG wts (K) B

Q96

(H) 3R 9T (T) & S & HaeT H T
&R | 1500 AN & FIeToT & GRUMH &
IR H SR ST 2 |

Bael b WY ST drel Ffdadl &l
e fhae '7

(A) 1000

(B) 1050

(C) 50

(D) 400

o fear T OF N dre (K) Bl
(H) 3R 9T (T) & S & Hae H T
IER H 1500 AN & HATOT & GRUMH &
IR F STEHR SdT B

T T ARl ST drel afdadl @
e faae '7

(A) 50

(B) 150

(C) 300

(D) 1050
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Q97 Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A,A ,A, and A, of company
‘ABC’ in 2016 and 2017.

Sales (crores)

Ay Ay A Ay A
Y- 2016 [J-2017

What is the ratio of total sales of branches
A and A, for the year 2016 to the year

2017?
(A) 2:3 B) 3:5
(C) 3:4 (D) 3:7

Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A,A A, and A, of company
‘ABC’ in 2016 and 2017.

Q98

Sales (crores)

Ay Ay A Ay A
Y- 2016 [J-2017

What is the ratio of total sales of all
branches for the year 2016 to 2017?

(A) 9:4 (B) 9:7

(C) 7:6 (D) 7:9

Q97 AU Y =1 P LA YdD AIT PN 3R
gl BT SR < |
IR e § 2016-2017 5 HUI “ABC” &I
i AR AL, AL AL AR A Bellg
gfedt o I & aR d ey < T8
2|

Sales (crores)

Ay As
NY-2016 [J-2017

A, Ag A3

a¥ 2016 ¥ aY 2017 TP ANIRI A, , A,
D Ft I BT U a2 2?

(A) 2:3 (B) 3:5

(C) 3:4 (D) 3:7

fau Q0 A1 o7 eagdd eI I 3R
g} BT SR < |

IR A | 2016-2017 H§ HI=T * TERIT
@1 UlE wERl AL AL AL AR ALY
PHols Gfsdl @ I & IR § STHBRY
CURICE]

Q98

Sales (crores)

Ay As
NY-2016 [J-2017

A, Ag A3

2016 | 2017 H T ARGRAT Pl B

fa@eT &1 U T B?
(A) 9:4 (B) 9:7
(C) 7:6 D) 7:9
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Q99 Choose the figure that is different from

the rest:

AV

A B C D
(A) A
(B) B
(C) C
(D) D

Q100 Choose the figure that is different from

the rest:

TaT17 | 1171 | 11411 | TaTa?

A B C D

(A) A
(B) B
©) C
(D) D

Q101 Choose the figure that is different from

the rest :

+ +|+ Ala + [+ +
A AA +|+ A|la A
A B C D

(A) A

(B) B

©) C

(D) D

Q102 Choose the option which is least like the

other words.
(A) Bitch
(B) Cow
(C) Vixen
(D) Bullock
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Q99 TH ATHT BT TIT B I TERI A o+

g

AV

A B C D
(A) A
(B) B
©) C
(D) D

Q100 I NPT BT TIT BN Sl GERI A A~

g

TaT17 | 1171 | 11411 | TaTa?

A B C D

(A) A
(B) B
©) C
(D) D

Q101 T 3P BT TIT BN Sl GERI A A~

&

+ +|+ Ala + [+ +
A AA +|(+ A|lAa A
A B c D
(A) A
(B) B
©) C
(D) D

Q102 I & &I g Sl A8 H g v&l &

a8l 2?
(A) Bfcrar
(B) T

(C) e
(D) de
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Q103 Choose the option which is least like the
other words.
(A) Horse
(B) Tiger
(C) Lion
(D) Cheetah

Q104 Choose the option which is least like the
other words.
(A) Pressure
(B) Volt
(C) Newton
(D) Watt

Q105 Choose the figure which is different from

NI

A B C D

(A) A
() C

(B) B
(D) D

Q106 Choose the figure which is different from

the rest.
SO alC
A B C D
(A) A (B) B
(©) C (D) D

Q107 Choose the figure which is different from

the rest.
X | 2| | &
A B C D
(A) A (B) B
©) C (D) D

Q103 I s &I g Sl W8 H g v&l &
HH el 87
(A) =TT
(B) @&
(©) T
(D) =

Q104 I ¥ BT g Sl A8 H g v&l B
A e 87
(A) WeR
(B) dree
(C) <A
(D) are

Q105 I P B TIT X AT TERI A o+
g

/AN

AN WA PAN

—_— — -
A B C D
(A) A (B) B
©) C (D) D

Q106 I BT BT TIT X AT TERI A 4+
2

M
v

1

S
>

A B C D
(A) A (B) B
(C) C (D) D

Q107 I GBI B TIT X I TERI A o+
2

| x| &

A B C D
(A) A (B) B
©) C (D) D
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Q108 Count the number of squares in the

following figure:

1

| N
(A) 24 (B) 26
(©) 30 (D) 32

Q109 Identify the mirror image of the following
figure.

)| M xifyiteily

A B Cc D

(A) A
(B) B
© C
(D) D

Q110 How would the following transparent
sheet appear when it is folded on the

dotted line?

O A @ | @®@A|OV|IOV

. v
A B C D
(A) A (B) B
) C (D) D

QII1 A box can be formed by folding the
following sheet as shown in the figure.
Which letter would be on the face opposite

M?
0
[L[M]N]
P
Q
(A) O (B) P
© Q (D) L

Q108 & g 3Pl # vl I F&AT fberil &7

M1 rrnm

g J
(A) 24 (B) 26
(C) 30 (D) 32

Q109 < & g B @I TUT BT @M
gAY

)| M xifyiteily

A B Cc D

(A) A
(B) B
©) C
(D) D

Q110 519 9 IR e & &) arel war

W HreT 9 dr fed gbR &1 ded

i gr?

O A @ | @®@A|OV|IOV

. v
A B C D
(A) A (B) B
(C) C (D) D

Q111 o % fe@m 7U JgaR e q Uh
dfT 91T ST Aehdl & | T & M &1

99T 9dg W S 91 ‘R BAI?
o)

[L[M[N]
P
Q

(A) O (B) P

©) Q (D) L
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Q112

Q113

A box can be formed by folding the
following sheet as shown in the figure.
Which letter would be on the face opposite

u?

S

s|<|c|+

(A) S
(B) W
©) Z
(D) V

A box can be formed by folding the
following sheet as shown in the figure.
Which sign would appear on the opposite

side of $?

[+]x
@
*$|

A) @
B) +
©) +
(D) x

27

Q12 fora # fRw@y 7Y IrfuR dfle W Us

dfRT 9917 ST bl & | afd & U &l
g |wdg W P9 A1 3R 8NT?

[s

s|<|c|+

(A) S
(B) W
©) Z
D)V

Q113 = % fe@m Y agar e A H

dfT 91T ST Adhdl 2| died & § Y
g 9dg w® dF a1 s grm?

[+]x
@
*$|

A) @
(B) +
©) +
(D) x
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HINDI

Q114 Ul & fha 9T &7

(A) T (B) w1
(C) & (D) 3rs
Q115 fF=fRad & SIF—aT1 vreg FNfT 8—
(A) HArfer® (B) ®ER
(C) Ui (D) A

Q116 YfeeltT 3rea BT T BHIFSTU—

(A) TR (B) <iRaar
(C) ag (D) @rask
Q117 e T agaa BRI—
(A) fRrerat (B) frerapt
(C) fRrféraTy (D) et
Q118 Hf 7 IR | HUST WRIET | NHifdbd bl
PRE 18T |
(A) Bl BREG  (B) BT RSB
(C) & ®R& (D) IR RS

Q119 Jg A UaT B | XGifbd &I 9§ 9qrsy |
(A) Fregaaras ada™
(B) i eearad |qa-mH
(O RENEICEASERIE
(D) UTaTad I

Q120 IHSER’ ¥ fAQT &7 P T 9E &
(A) =T faeryor
(B) Smarad faemor
(C) uRvmHarad fareo
(D) Torares faeigor

QI121 =4l ¥eg | 91 fagiyor g—
(A) =g (B) =rdf
(C) afda (D) =4t

Q122 g1y’ HEd T
(A) T & o T BT
(B) fohaT & AT ®U Bl
(C) fohaT & SwH wU Bl
(D) fovm & QU wY Bl

28

Q123 &Il & fha 9 &7
(A) &rd (B) ©g
(©) =t (D) @R

Q124 TEHT &g 99 B—
(A) B & 9o o=l |
(B) faceh vl &
(C) 9§ oIl ¥ deeld |
(D) E&pd W&l § HB gaod |

Q125 TIH e YA Y—
(A) foraT (B) &1
(C) AR (D) I

Q126 U TTeqT BT HI—T T Hel ol o7
(A) ureener, fagarerd, @
(B) TR, #fger, &ikd
(C) U=Ts, Uad, J&id
(D) 31T, 3R, [

Q127 7 W Hal fId™ eeg ¥H HI—4T 27
(A) 3MEH-YaTH
(B) 3Me=—e™
(C) Ye=—fagm
(D) 3MTeTH—FATET

Q128 3R’ W& & AP VE—THE BT I
DI
(A) IY—3HDT
(B) go_—a=1m
(C) AI—Rg
(D) TG-S

Q129 ‘ST B HRAT Hfo 8 A & forg
U e forRau—

(A) TR (B) R
(C) ®fe (D) 3rE¥d
Q130 Uel Ui TR MUAT ..o ERIEE]
SEER NG
(A) AR (B) <M
(C) e (D) 95
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Q131 '3 Sul & & UR B

(A) TR (B) srgur
(C) 3R (D) 3R

Q132 Yefaps’ W H vt YT BT YANT B3
&7

(A)
(C) sTms

(B) s
(D) et

Q133 arstfer &1 T8 df—fawes 8—
(A) A= (B) d+stel
(C) Mai+aisifer (D) a+3isTiel

Q134 |1 fieaR ¥ael ST & | —arad &l JE
w9 BT
(A) w4 TR Thel T |
(B) ¥ ety A1 ¥ahel O & |
(C) |t feaR wae o 2 |

(D) |1 |1 he O € |

Q135 'TASER” H P9 AT IAN 87
(A) 3gd wig (B) gy
(C) o (D) 37

Q136 H @ g |—FHHarsd w9 BT—
(A) gsT @TaT ST o |
(B) R ¥ WRIT ST B |
(C) TSI @1 =&l SIar 2 |
(D) 3 @RI ST ¥

Q137 # 31 UgdT & |—araa # forar faemor &1
g T
(A) raras foear faeror
(B) fcraras fopam fagmor
(C) Hrerarad fopar faeror
(D) uRvmvaras foham fagmyor

Q138 7= & & aoid fore B—
(A) ? (B) !
©) - D) /

29

Q139 &l & R ST — HTeR BT 31f 5—
(A) JeHl HRAT - (B) G AA
(C) W= 81 (D) ©1

Q140 ArPpIfdad &1 AT 31 g—
(A) 1P B 3fad (B) b @ a1
(C) i & o (D) 3T 9wl

Q141 TH® IS I FIdd H dl IR R

off |- ¥g 913V |
(A) HfdT 3= (B) dR %9
(C) B3R ™ (D) TR 3™

Q142 IS & TP AR § fha=l A=Me By
2?

(A) 999 (B) 938
(C) U=s (D) dret®
Q143 PTeil TCT BT THS T |—3ADR TATST—

(A) THDH IADR
(B) SUHAT 3TcihR
(C) 31U 3TcThR
(D) ®U®D IABR

U AT 144 9 148 BT IR QU U
TSR & R TR SRR

faeg @ o1 Nt Ui A 78 7, R
Il & Heu B A SifwT BT 99 fafae
UHR & I Terdl qr yareri @ forg
THATS MM I o 31 377t ff & | gt
& ARAR T W 39P TRETIT &l JMITIDHT
ST | ISl AT I GRETT Bl Saehall
Ugel oIl & 91 g% © | 991 A S US
U 8N 89 &I FART BT FARTA
PRI B 3T BH SARG, BeiaR 3Sffe
T B oI B UBR & Adhfdl Ui
BT B B | 1T 8 BRI g9 B forg
T AT N U Bl 8 W g%
PIC B TS AT §IhT ARETT T 3aeqdH
21 Ue U9 9y BN H AE™hP g
TJITIROT ) 6T HRd & | T8I STH Prad
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SReffrass ok favel i & AR
B erar Y Bl B, Ty gar # W) &
jiel o Y&l € | YT BReb d BHNI
ged) T JRfTT & 2 |

TITEROT BT GRET & AT 1T FARI RS
IR YOIl DI THRT BT TR AT a1
@ TRETO W B §Yd 8 Ahdl g | 9 B
HROT B Afedl orue AR A B
IMAUR HSlIHR JaTed 81 &l o |

Q144 Tt BT qou 3ifd &7 31ef 5
(A) T BT AET FASHT
(B) Tl BT IS PHre-T
(C) =l &I 99T
(D) a9 T

Q145 M3 W | AU 8-
(A) |IoTT BT RE
(B) gAT &1 wIH
(C) & BT W
(D) 3N T A

Q146 T91 & TRV H AU B—
(A) Tl BT PBreAT
(B) @l BT BT
(C) Tl BT ATH HAT
(D) 91 BT g1

30

Q147 a9 YAfdRT &1 T b PR B 87
(A) TS BATQ FelTdhR
(B) BRI T&R
(C) a9 R H AERID I
(D) AHSI TH

Q148 Ffeal & STt fhdad BRI yarfad &r
& B?
(A) T B
(C) foramt &

(B) &Rt &
(D) =i &

Q149 "SUEY g fHad! o= 8°?
(A) STITHR TG
(B) HRreiRRoT
(C) Ihara Bt fRTer
(D) gfHare ud

Q150 3T & Tt fad! =T 87
(A) HETdT i
(B) rrem Rig
(C) REIRM RO I
(D) I@ia Bt fARrenm
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ROUGH WORK /3% &1 & foru
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Read the following Instructions carefully :

frfoRaa el & &9 9 ue -

1. Candidate shall not remove any page(s) from the Test
Booklet and if any page (s) is/are found mising from
his/her Test Booklet, he/she may be liable for suitable
action.

2. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

3. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

4. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

5. The candidates will write the correct Series in the
Attendance Sheet as mentioned in his/her Test
Booklet.

6. Each candidate must show on demand his / her Admit
Card to the Invigilator

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

8. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

9. Use of Pencil/Electronic/Manual Calculator is
prohibited.

10.The candidates are governed by all Rules and
Regulations of the Board with regard to their con-
duct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Board.

11. After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is allowed to take away Test booklet and

Candidate’s copy of answer sheet.

1. Gl B 9 g5 / geai ol e gl |

3T &l HM | X BIS W1 I5 IAD! / IFD
oief gRTPT | AT 9N S 8, 98 Sugerd
FRITE & v ReR 8 J6dar g1

URIe U & forg AU I IR fadedl H 9
Tl SR & foTv 3. UH. 3R, SR U5 WX
Had U TIel BT & YR aRE AAlet / Blet a1e
Uige U9 9 W | U IR IR 3ifhd by o™
D 9% S ol Tal ol IHhaT © |

. Wl GARTT B @ SR T T AT 7

ST TG S8 TR BIs =g 9= 9 g |
oieefl ST TG SR UF W MEiRd
e & AfaRad = 7 ford |

OIET gRADT Ud SR UF BT e 9dd JART
B, Rifd fdt O aRRfT ¥ (@aet adiem
gRADT H BH DT BIS BY) AR TIel JRAD]
TG SR UF SUALS el BHRIAT ST |
e gRaer § <1 T AR D1 qRlerredi
el TID I 319 BIORI—T3 (ATTENDANCE
SHEET) & ford |

T8 ST TR Ud URIeell, wel srRied Bl
YT 999 v gy |

refleTen AT et A<D Dl a2y AT &
faar @Ig et s Y T uIs |

PRINT heT I=IeTh BT UAT IR UF QU
fomm olemeft eroAr we TEl B | afe
fopedT oRemefl 9 BONI—u= (ATTENDANCE
SHEET) R BXIeR el fhT ar I8 /T SIger
P AT SR UF T8l e’ g 3R T8
T AT BT HHSAT AT S |

URTe / SelaglFd / edlield UR&Ged &l

SYANT afofd 2 |

10.TR1&T BT ¥ MR & forg e} s &

a1 el va fafml gR Rafie = | s
vd fAfrHl & o aR B8R |

11. IR0ETT & SURIT 3] SR U= el ITaeield

BT el ¢ | Irield gIRT 31l dl IR
THD @l 3R Uit ST HRIs SITTHT e
ST IR BT BeT DI BIST DI AT QI
SIQHT | oXIeT gREDT T SR UFD DI
et gfay angeft @1 :moe |1 of S @l

3T 2 |
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